8 - 7=

1+ 7%=__
8 +
9 -
10 -

8+ 1=

9- 1=
1= 8 -
1= 4+
7= 8 +

Rechnen bis 20 ]

Umkehraufgaben

7- 1= b+ 5=
6+ 1= 9-5=__

3= __ b+ 5=__

2= __ 7- 3=__
= + =

Rechne aus und farbe das Ergebnis passend

einl

3+3=___ (gelb)

15 - 2= ___ (hellgrin)
20-10=___ (rot)
S5+4=__ (lila)

18 - 2= ___ (dunkelgriin)
11+ 6=___ (dunkelgriin)
9-2=___ (gelb)
10+9=____ (hellgrin)
6-1=___ (rot)
17-3=___ (i)

5+ b= __

9 - b=
F+ 2=__ 2 +
8 - b=__ 9 -

= o+
124 6=___ (hellgrin)
20-9=__ (lila)
0+0=___ (dunkelgriin)
4+4=___ (hellgrin)
9-3=__ (rot)
10-9=___ (hellgin)
6-3=__ (dunkelgrin)
1%-10=___ (rot)
M+4=___ (hellgn)
1%+45=__ (rot)
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